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5- 5 X= k p=
m✓= ( 1,2ha ) ( 6  Mls ) = 7.2 hgnys
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X  =  6,62=345 .  s = 9,2×10

-

35in

7,2 hgmls

W .  The detswglie  waves  of
the  rorh belong to the rock .

The mechanical waves  if
the  water  are properties of

the medium
.

And
, obviously very different  in size .

5- 15 k  =  EV =  3heV ⇒ E =  K +  Moc
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Mo  =  0,511

MeV/i
 

= 511 held 1<2

P - E±c4#
E  

=  514 hev

C

= (5*2-(51%5=  55 hevk
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k  =

hp
=

hpcz
= l240eV.nm_ =  22×10 m

55×103 EV
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X =

hz
= he = 1240 e V.  nm

=P Pc 4j2ev)2+z( 1012 )( 938×1064

Tevatrm : X = 1.24×10 "8m

LHL K= 7×10 "eV
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k  = 1,8×10 in



5- 26 X=  4cm

V=  4. ZCMIS

al f  =

Vy
= 4¥ =

1.05 Hz

b ) T=
t

=  0.95 s

c) h=  

2¥
=  

Iz
cni

'

d ) we  ZI =  2.  II  Vail /s
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In lgx
= 1,054×(534526×10

'  '

5hg)( 1×156 m )

2  1.76×1514 Mls

5- 44 X  
~  0,14hm looting In K of elections .

P= hg
=

he
=  l240ev.nm_

( 0.14hm ) c

=  8.9×103 e%

K=  E - Eo = ✓(pc5tE= -

Eo

= @.9heV)2+(5uhe# -
511 hell

=  77eV


